SHEMARPE SRS TG BHEf 931111

& |2-5 THE < EHiF 12 | Uik g
E I 2+Ans [R5 %

—. HRE (B&E 10 )

LB RIE S AL XH3_Yl 2o

) —; SEPT PR ix=2y+z2=5 [T I E VA
U o

(5 ] 4x+y-22+11=0

D(2-23)x(L-21)=(41-2) . IFIE VR A+ y-22+11=0

. . X+3y-1=0
=P VA e SEL =5 - - =, F=0 o
Al ,h‘[ﬁ‘ﬁm TAR 2L EE AL {3y+z g BIPUT I E A

0O 31 3
Bl E I IeLL 2t F‘* :
L W A

TEIE VY HHEFAER3(X-3)—(y-2)+3(z+1) =0 » J|3x-y+3z2-4=0

3+ BPEHIP(L 2, T EAL, 1{

‘:3:—1:3

X+y—-z=0

O SFEYTH SELL ;[/3%’\ T o
3 +y+2z+1=0 P L, ]

“al. 1 - C e . T e | e N o
B3k LZJ/iJffIJ':_:LlJ/ﬁLJ[ﬂJL—‘:‘ JHZ 3.‘3 sz.—S.—Z
e X1 _ Y- 2 z-3
U S P £, .
A 3 T E T
=[x f I il = s I ,\.\\ «__“‘zr\o
AR x—y+2z=2" * |ax+2y+3z=0 i Lkl 0

10, @, @ x=1, y=1, z=1> ‘Jz&gﬂ, P(1,11) [t *@fHa=-5

5- rl%A(Z -2,4), B(3,0,1)" EH‘P kT IEI2x—y+22=5 o fl|P %ﬁi?{@t lplﬂﬂ*] I[EIPA+PB
Bl EE T R 2
PAST PIE U SHIREA E
2x2x9 2x(-1)x9 2x2x9
22— ——— —2— 4— =(-2,0,0
( 2° + (1) +2° 22+ (-1)°+2° 22+(—1)2+22) ( )

AB=(5,0,1) = AB:x=—2+5t, y=0, z =t
A_B'&??ﬂfelE;'/ﬁ»ﬁ:cg,t,.@z(—2+5t)+2t=5 Sot=

A~ w

P&ﬁ“(— —) 'PA+PB | i % AB = /26

1 AG 1,-1), B(2,5,3), C(x, y, -5)= Rfrilast » Zf wyy Vi -

£1H



X=3-t1
[63]: AB=(2-3 5-1 3+1)=(-L 4, 4) + f |y=1+4t

Cflt=-1 x=4, y=-3 -
—5=—1+4t

X+y-2=0 X—y=1
7~ FE AL L
TR L1{y+z—0 2 {x 3y+z=2

EEE Liﬂf“*ﬁr'uf““?“ JH H ‘ 2:-1:1

: : :—1:—1:—2:1:1:2
1111 1 -3

- 2x1-1x1+1x2
L L Bk VSRR O > Fllcos 6 = [2x1-1x1+1x2

NEELE

L, 2 |

1
=2 ,0=60°
V2 + (12 + PP+ 1P+ 27 2

i Ly, Ly ik )45, 60° i 120°
X=3+4t

8~ FuR  y =-2-3t,
z=1+12t

[8 %] t=—1= (-11-11) : t=5=(23,-17,61)

—1<t<SAURE W H IRy LAR -

PSR VS 1T\ (23+1)7 + (—17 —1)7 + (61+11)2 = 6/4% +(-3)* +122 =78
ﬂt:_1+5

=2 > BV R B+ 4% 2, —2-8x2, 1+12x2) = (11

. -8, 25)
9-

§¥7FIEE?3ﬁhx+4y 32:4192x 3y+z:1lﬂﬁbﬁ>1@$1’%CTEWEE?ﬂﬁa
p= ZéﬁTEwEﬂ«x+4y—3z 4)+Qx 3y+z—1D=0

(k+2)x+(4k —3)y+(-3k +1)z+(-4k-11)=0

"(k+2,4k-3,-3k+1)-(3,-1,0)=0

k=9
S EE BR11x+33y -262-47=0
x=19+8t Xx=2+2k
10\§ﬁﬁﬁiﬁﬁﬁ%ig: y=12+5t, teR » ¥ L,:

i ly=1-3k , ke R
z=23-4k

BEE L3 A(19, 12, 3), L, i B(2 1,23) » a=AB=(-17,

=3+t

~11, 20)
LlJ/ﬁLJ[fIJ’:“?.‘ 8:5:1 N ij[ﬂj"‘t 2:_3 -4
5 1|]|1 88 5
L, 7 2= [ A 1.-2:2
5 A 5 4| a 2‘ 2 _3‘
L, L l/jff[ﬂj =(1,-2,2),

|B| \/1+4+4

B B L_x—2_y+5_z
' -2 1 4 '
I'FI P~ [xJ?L% 'EFJEIUE'\E?%EIF ?

== s B = EEUL S

£2H



: F%P?}Llj—’ P(-2t-2,t+12,4t+4) » QLo - » Q(3s+2,5-5,5)

PQ-(-2,1,4)=0, PQE3.11)=0
S11s+t-9=0, s+21t+41=0 - .".s=1, t=-2
.P(2,10,-4), Q(5,-4,1) - .-.@:X;SJI ::Z; d(P.Q) =~/230
12~ A, 2,3),B(2,1,0), C(0,0,0) » f3HAABC Vg 2= [y ABC =5 [ Al Asusf7e b=

??J?“ °

- ARBC ity 22208 _(1,1,1),CA=(1,2,3).CB-(2,1,0)

—_

PO A [l [y B S 0

n.LCA ~ 3B p 2
= ..V n =CAxCB =( , , )=( 3°6>-3)
~ — 1 00 212 1
n1CB
x-1_y-2_z-3
?Vl’—Z ’1:} = =
(10 () D= == m=
13 - gyh X— 3 -y Z_S,Q:X+4::1_y::3_z
6 2 3 2 2

(1y}cpﬁlﬂiﬁTf§LzﬁﬂTEq?
(27~ L, L o T RREE ?

(6 3] ORI PEWALELTE fn=@b.c)

nivEnlv,, v=0-62), v,=(3-2-2)
6 2| |2 1 L -6
-2 —2" -2 3"‘3 -2
JEWQJJ)’LEI2x+y+h:«ﬁﬁgjﬁ%$A6J”&H‘
J.k=6+1+10=17 » ".E: 2x+y+22=17

J.a‘bic=

‘:1638216:22112

-8+1+6-17
2)BEB(-4, 1, 3)% L, F > d(L,,L,)=d(B, E)= ———r—|=
cppneee . W X—1 y-2 z+3  x-1 y-1 z-1 R
S I T, Tk, T, PAsGRA] -
FORYIFIE L 2 DM 2, 1) » e A 2 2R
x=ti let—1 242t-1 —3+t—1
A . _ , g ,+—_+—_—+—
@ Liy=2+2t - {87 L =, =
z=-3+t
?Lzmﬂzﬂz4’m;hleNi%dﬁwﬁﬁ,%H,QTw@

1), @1 L, L -

o mrew o [BX+4y+32+5=0
15\$%Fﬁﬁhﬁlr{2x+y+z—2=o

X 2x+y-1=0_
IESTEY T FRY A
PR {x+22+1=0 TP R

£ 3H



B

SRR P AR (6x+ 4y +32+5) +K(2x+y+2-2) =0
A1(6+2K)x+(4+k)y+(3+k)z+(5—-2k)=0 - Jflii[rjﬁ F@ﬁ:(6+2k, 4+k, 3+k)
1 0
L, V7 p et ‘

H ‘ 2:-4:-1

LV v =2 -4, -1)

P v =2(6+2K) - 4(4+K) - (3+k) =0= T +k =0 » k=7
AR P AR 8+ 3y +42-19=0

1\&@(2 1, 0)+ﬁ”@mkx ! y24 2—3
PIASLEE - BTA(L 4,3)

a=AP=(2-1 1-4, 0-3)=(1, -3, —3) > b=(L 2, 3)

ﬂh—\ﬁ‘%/ijﬂl

AP;AQ _ (a- b)B N KQ _ 2(a- b)B—KP

[l [bf

freh BEREEQ

Q= A+ 2a b)b a=(L 4 3)+ w(lzs) L -3 -3) =(-2, 3, 0)

bl
Xx-1 y+2 z
17 ~ L —— =2 —=—"=T T E 1 x-2 =3 FSLFITEE FV
7 @ 7 2 3 3 FIE:x-2y+2 @ 7 B 8
SBIALL o LT [ EARLAT P [P Bl L@ L
L' b oy R 4 > ()AL ikt (a,2)b) - E‘Ua‘—’
b= o

23 17
E’:% : —71_81_61 9X_ _112211’ 0 10
( ) y 10’ 10
[ERR —X;1=—y;2=§=t S (At -2(8t-2)+ (B8 =3 » Lt=-2 . P(-7,-8,-6)

(4,3,3)x (1,-2,1) = (9,~1,~11)

SEE LR L VT R E R (9,-1-11) > H AR Ox -y ~112 =11

@u&i R S (9,-1-10) x (1,-2,1) = (-28,-20,-17)

23 17

"10' 0 10

18- T IF{EA-4,25), B(5,5, -2l : XY TS b HiP- {1 PA+PB
¥ 2 1 2

sl Pl PRSI 2~ PA+PB V& ] ffi 3 2
3AﬂmTLEIwH 'f;@w&gt 3 A’ (2t +3,—t,—2t—5)

(a,2,b) //(~23,~20,~17)

(2t+7,-t—2,-2t-10)-(2,-1,-2)=0 ..t=-4> .. A(-543)5 AA'=3
B Hfjfiasi L ;'/}?z“%{é%ﬁ% B’ (2s+3,-s,-25—5)
(2s-2,-s-5,-25—4)-(2,-1,-2)=0 ..s=-1  .".B'(1,1,-3), BB'=6

SPTEAB FUPAIPB =1:2 5 ..P(-3,3,1) » PA+PB=+18+72 =92
19 - FFAABC [1U= TFIEiHS A(3.2.2), B(1,-14), C(ts,1-t-5) » FIAABC =V | ifi b7 2
£48



R C R AR ER {2

L CRfaTE x+y+2=1VTFIE b

vy - 2x1x6 2x1x6 2x1x6
A ST E IV SEFHEREA RS (3 - ,2— ,2— =(-1,-2,-2
FF ]‘7‘“‘&#,‘ ( P+17 4+ 17417477 12+12+12) ( )
A'B=(1+1-1+2,4+4)=(2,1,6) » AB:x=1+2t, y=-1+t, z=4+6t
—_— 1 1 4
ABZ=T I E VHRIEE C o 1+2t+(-1+t)+4+6t=1 > t=—= . .C(%,-—,2
FIE Ve (-1+) S CG32)

A\ABC IR | ikl AB+A'B =17 +/41
20 ~ & %ﬁA(B,l,Z), B(4,33)f~ fliatlix=t+1> y=1> z=-t+2 > jg'[%#,“P TR M
> JUIHG P RG-S PR APAB VAR | ? & ELR | AL 2
¥ A| URSCABTE L ERRAIEL  KRIAPAB EtE | o i P E[lSL VB | o R
P RIS A Y R o R L VL
P(t+11,-t+2) > I%Q 7 AB F» Q(3+5,1+25,2+5)

PO-(L0,-1)=0, PQ-L,2,)=0 ..t=1, 65+2=0

_1 . 815 55_2V3 4=_
=3 ~SP2,1,2), Q(3,3,3), PQ= - . AB=+/6

.'.APAB:%X£X¥=\E

£5H



